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1 ‘Hind Swaraj' is a book composed by
(A) V. D. Savarkar
(B) Mahatma Gandhi
(C) Bankimchandra Chaterji
(D) Balgangadhar Tilak

Which welding process spot welding is
belonging ?

(A) Gas welding

(B) Arc welding

(C) Resistance welding

(D) Jig welding

Which type of welding is to be used to
make joint of thick pipes of rails ?

(A) Thermit welding

(B) Non-pressure thermit welding
(C) Pressure thermit welding

(®) Fusion thermit welding

During the British time in 1805, Haryana
was divided into 2 parts, the larger and the
smaller. The smaller part is termed as

(A) Administrative territory
(B) Political territory
(C) Assigned territory
(D) None of the above

5. Which of the following lake is the largest
fresh water lake in India formed by
tectonic activity ?

(A) Wular Lake

(B) Naimtal Lake
(C) Bhimtal Lake

(D) None of the above

The Limited Test Ban Treaty (LTBT) of

1963 did not ban the Testing of Nuclear
weapons in

(A) under water

(B} underground
(C) atmosphere

(D) outer space
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Why the argon and CO, mixture is used

in FCAW Y.

(& Smooth spray transfer, with
minimum slag

(B) Smooth globular transfer

(C) Smooth pulsed transfer

(D) Smooth dip transfer

National Dairy Research Institute was
established at in 1923 before
shifting to Karnal district of Haryana.
(A) Delln (B) Mumbai

(C) Chandigarh (D) Bangalore

In which of the following Union Territories
of India Salt water Crocodile Sanctuary
is situated ?

(A) Andaman and N icobar Islands

(B) Ladakh

(€) Chandigarh

(D) None of the above

Badkhal 1ake is located in district
of Haryana.

(A) Faridabad (B) Sirsa

(C) Karnal (D) Hisar

Select the word which comes last when
arranged in alphabetical order.

(A) Actuate (B) Accumulate
(C) Acquit (D) Achieve

Ethanoic acid reacts with absolute
Ethanol in the presence of an acid
catalyst to give
(A) an aldehyde
(C) a ketone

(B) an ester
(D) an ether

What is the reason that obstructed joints

cannot be welded by electron beam

welding process ?

(A) Electron beam travel in curved line

(B) Electron beam travel in different
direction

(C) Electron beam travel only in
straight line

(D) Electron beam travel in circular
line
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Rewari Railway Heritage Museum of
Haryana has World’ s oldest still functional
steam locomotive is known as

(A) Iron lady

(B) Shimla Kalka Express

(C) Himalayan Queen

(D) Fairy Queen

wascarved out from Bhiwani and
formed as a new district of Haryvana.
(A) Hisar (B) Jind
(C) Charki Dadri (I} Jhajjar

Find the average of all the numbers
between 6 and 34 which are divisible by 5.

(A) 18 (B) 20
(C) 24 (D) 30
The resides on the motherboard

and connects the CPU to other devices
that reside on the motherboard.

(A) Data bus {B) System bus
(C) Address bus (1) PCI bus

What is also referred as a GTAW ?
(A) TIG welding (By MIG welding
(C) STUD welding (D) GAS welding

Harvana Forest Policy was framed in the
year of

(A) 2010 (B) 2000

(Cy 1994 (D) 2006

The First Mutiny of 1857 was started at
this place in Haryana.

(A) Ambala {B) Panipat

(C) Kurukshetra (D) Sonipat

What is the current range in micro plasma
arc welding process ?

(A) 0.05 to 256 Amps
(B) 0.05 to 20 Amps
(C) 0.05 to 15 Amps
(D) 0.06 to 10 Amps
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What types of joint can be done in friction
welding :

(A) T joint
(C) Butt joint

(B) Lap joint
(D) Corner joint

Who was the first Governor of Haryana ?
(A) G. D. Tapase

(B) B. N. Chakraborty

(C) Dharma Vira

(D) R. S. Narula

How many types of metal transfer in
GMAW/CO, welding process ?

(A) One (B) Two

(C) Three (D) Four

Choose the correct option that will
complete the series.
A, C.F 4,02

) u

(CyV

® R
() T

Which gas is generally used in gas laser
type welding ?

(A) Carbon-di-oxide

(B) Argon gas

(C) Oxygen

(D) None of these

Which of the following is the composition
of Banabhatta ?

(A) Harshacharita

(B) Geetha Ramayan

(C) Bhagavad Geeta

(D) Sur Sagar

What is the usual torch angle tilt on either
side of vertical in GMAW ?

(A) 10° - 20° (B) 20° — 25°

(C) 25° - 30° (D) 30° - 35°

A train moves with a speed of 108 kmph.
Its speed in metres per second is

(A) 108 (B) 18
(¥ an (D) 38.8
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The Jawaharlal Nehru Port is located in
(A) Maharashtra

(B) West Bengal

(C) Kerala

(D) None of the above

Which welding process is used to weld
stainless steel wire mesh and surgical
instruments ?

(A) Electrode beam welding

(B) Electro slag welding

(C) Micro plasma welding

(D) Plasma welding

Which of the following National Highwayvs
that pass through Haryana, connects
Delhi and Fazilka in Punjab ?

(A) NH 8 (B) NH 2

(C) NH 65 (Dy NH 10

If a source is moving away from a
stationary observer with velocity of sound,
what frequency will be observed ?

(A) less (B) more

(C) unchanged (D) none of these

What are the common welding tests
performed in workshop ?

(A) Nick break, free bend, fracture
(B) Tensile test

(C) Guided bend test

(I)) Impact and particle test

Which combination of metal and shielding
gas give excellent cleaning action in
GMAW welding process ?

(A) Copper, Argon

(B) Aluminium, Helium

(C) Magnesium, Argon

(D)) Stainless steel, Argon
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Which gas is chemically inactive with
any metals in hot or cold condition in TIG
welding ?

(A) Argon (B) Oxygen

(C) Nitrogen (D) Hydrogen

Color ink jet printers have four ink
nozzles they are
(A) CMYK
(C) CMRB

(B) CMRK
(D) CMYB

What crystal (rod) is used in laser beam
welding ?

(A) Iron
(C) Copper

(B) Ruby
(D)) Stainless steel

Which is the process to attain full
penetration of weld in 10 mm stainless
steel ?

(A) Laser beam

(B) Microplasma
(C) Electron beam
(D) Keyhole plasma

How many members of the Rajya-Sabha
are nominated by the President of India ?

(A) 18 members
(B) 13 members
(C) 12 members
(D) None of the above

What is the temperature produced by
chemical reaction in thermit welding ?

(A) 5000° C (B) 5000°F
(C) 4000° C (D) 6000° C

How much time it takes for the thermit
mould to cool, after welding by thermit

process ?
(A) 7 Hrs (B) 9 Hrs
(C) 10 Hrs (D) 12 Hrs
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Fatehabad district of Haryana 18 fan.:mur;q for
which among the following industres *

(A) Cotton thread
(B) Steel

(C) Chemical

(D) None of these

It is believed that Arjuna had made the
Ganges erupt at this village of Haryana
to quench the thirst of Bhishma.

(A) Sannihit (B) Narkatah

(C) Rajpuri (D) Prachi

The book ‘Rajatarangini’ was written by
(A) Bilhana (B) Ashwagosha
(C) Kalhana (D) Hala

Complete the matrix.

21416
3111 4
10|12 | 22
15|17] ?
(A) 32 (B) 19
(C) 21 (D) Narne of these

What is the name of part marked as ‘X’
in the spot welding 7

(A) Air cylinder (B) Pivot point
(C) Rocker arm +~ (D) Electrode +

In Harvana Indori river rises near
(A) Krunal

(B) Mewat hills

(C) Shivalik hills

(D) Kaithal

8-
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What is the distinet differe

GMAW and FCAW equi‘i:;;vlgf‘:::: EEIWGQH

(A) Nozze and torch )

(B) Construction of t
rollerg P

(C) Machine

(D) Feed roll

and feed

and torch

s and gas cylinders
The first bartle of p
the year ?

(A) 1536

(C) 1532

ampat happened in

(B) 1529
(D) 1526
f’\-:(:()r{lirng to modern periodic law
properties of ele :
function of their
(A) atomic mass

(B) atomic property

(C) electronic configuration
(D) atomic number

ments are a periodic

Whatis the weld defect if wire feed speed
too high ?

(A) Porosity %

(B) Spatters »

Y Incomplete fusion

& Lack of penetration

Heating cthanol at 443 K withiexcess of
Conc. H SO, gives
(A) Ethane
() Ethanal

(B) Ethene
(D) Ethyne

____ lets users run programs or give
instructions to the computer in the form of
icons, menus and nyﬂ:Lu-isual gplions.
(A) Console Window

(B) Shell Window

(C) Command Prompt

(D) Graphical User Interface (GUT)

Name the first Indian player born in
Haryana to sccure World no. 1 spot 1n
Badminton in the year 2015.

(A) P. Kashyap (B)y P. Gopichand
(C) Saina Nehwal (D) P. V. Sindhu

49.
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ok X' in the Laser beam welding *
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(A) Laser beam (B) Ruby rod
(C) Cooling system (D) IFlash lamp

57. The Supreme Court shall have power to

review any judgment pronounced or order
made by 1t under Article

(A) 136 (B) 137
(C) 124 (D) 128

58. At the rate of 8—12- % p.a. simple interest,

a sum of Rs. 4,800 will earn how much
interest in 2 years 3 months ?

What is the name of the part marked as

14/2019 (19)

56. o ag afeen § X ¥ v ¥ fafgad v

AT FTE ?

(A) B s (By &l U
(C) e ToTet (D) AT S A
fore 31702 % aed gai= Aed F 30E

TR AT T faRE o Fvia A & e e
i gifle F71 F1 ATUFR am ?

% 136 (B) 137
124

B 128
Sé%nﬁraﬁ’%mmﬁiﬂm

4800 F TF UM F = 299 398 H

fecn =1 smum ? U It
(A) %. 796 (B) %. 816 vooide
(C) 5. 918 @) 5. 956

P =
AR R e TRy 7 25t drerar @ afom
FE-FTE ?
(A) s A i (fragam)
(B) et ufw fafirea (ssepim)
(C) afegn vl dwemn (gsegfiag)
) See Froarer e (gsegdiag)

a7,

S

59,

60. wRE ¥ W F9 e afte #1 ud gagEn
fam A s @ 7

(A) 25 &l

@ 25 SFal

(C) 25 310

({A) Rs. 796 {(B) Rs, 816
(Cy Rs. 918 (D) Rs. 956
59. Which is the result of qualification
generally recorded in particular format ?
(A) Procedure Qualification Record
(PQR)
(B) Welder Procedure Specification
(WPS)
(C) Welding Procedure Qualification
(WPQ)
(D) Welder Performance Qualification
WPQ)
60. InlIndia, National Voters Day is celebrated
eVery year on
(A) Fﬂhmw a5t
(B} January 25
(C) April 25%
(D) None of the above
C

(D) I 8 & i Tl
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What is the name of the part of TIG torch
for holding tungsten electrode ?

() Collet (B) Adaptor
(C) Ceramic nozzle (D) Electrode cap

Find the missing letters.
ab_abb_bba_b

(Maba (B) bba

(Chbab (M baa

What 1s the post-heated temperature of
plain carbon steel ?

(A) 100°C to 300°C

(B) 350°C to 400°C

(Cy 400°C to 500°C

(D) 500°C to 550°C

If MADRAS is coded as 56, how can
CALCUTTA be coded ?

(A) 8 (B) 38

(C) 81 (D) 76

Which of the following architects planped
the City Museum 1in Chandigarh ?

(A) Norman Foster (B) Renzo Piano
() Le Corbusier (D) Frank Lloyd

The British built Fort St. George at
(A) Madras (B) Delhi
(C) Calcutta (D) Bombay

This dance form of Haryana is conducted
in the form of questions and answers are
asked by the singers

(A) Phag (B) Dhamal

(C) Loor (D) Jhumar

Which metal surfacing method is ideal
for thin layers thatcan flow to corner and
edges of the job ?

(A) T16 welding

(B) MIG welding

(C) Oxy-acetylent welding

() gubmerged arc welding

e M -11-

¢ 70 T phan

61.

62.

63.

65.

66.

67.

68.

/
1 5%

ﬁw (19)

s gerEre T 3 o Aol 219
fgmamm%?

&) Fcle (B) BT

() s saee (D) oEe H9

; ab?
STUTET 31l @ T B L b %L'b ol
ab _abh. Hha.b ="
(A)aba (B) bba *
Wrbab (D) baa

B ¥ A 1 wE HEA =i &l aA

fFan e ?

(A) 100°C & 300°C

(¥ 350°C ® 400°C

(C) 400°C & 500°C

(D) 500¢C# 550°C 1t 1243 :,,m?i_ 7

R MADRAS 1% 562, 1 CALCUTTA
FFrE A M ¢

(A) 8 (B) 38

(> 81 (D) 76

Frffiag ¥ & frg aTgeR 1 988 # TR
TeTerd o e s ¢

(A) T BT (B) T fom

(¢ < TG (D) &= wae

@y (D) I
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mﬁ%@ﬂh%aﬁﬁaﬁtﬁ#ﬁﬁt}aﬁa




i

69.

70.

79 18

72,
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When the State of Haryana was created,
literacy rate of entire State was around
(A) 10%

(B) 15%

{C) 40%

(D) None of the above

These are expressed as a series of letters
separated by periods (.) and sometimes
forward slashes (/)

(A) LAN Address

(B) Email Address
(C) Postal Address
(D) None of the above

Which of the following is incorrectly
matched ?

Division District
(A) Rohtak - Sonipat
(B) Gurugram — Palwal
(C) Hisar - Fatehabad
() Ambala - Mewat ‘

Which welding process is done by
chemical reaction between.a metal
oxide and metal ?

(A) Electro slag welding

(B) Election beam welding

(C) Thermit welding

(D) TIG welding

Which among the following is true with

respect to Rapid Metro Rail Gurugram

Limited ?

(A) Tt is [ndia’s first fully privately
funded metro

(B) 1t is the longest metro network

(C) 1t was opened to public on
November 14, 2012

{D) None of the above

Which is the only welding position in
electyq slag welding process ?
A Down hand (B) Horizontal

C 5
(©) Verticq) (D) Overhead
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70.

71.

72.

73.

74,

wegar e off
(A) 10%

(B) 15%

(C) 40%
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The Ottu barrage in Haryana is situated
on which river ?
(A) Sahibi

(C) Yamuna

(B) Ghaggar-Hakra
(D) Tangri

What is the test that gives tensile strength
and elongation of test specimen ?

A8 Strength and ductility

(B) Lack fusion »

(C) Slag inclusion

(D) Blow-holes <

Battle of Karnal (1739) was fought
between and Muhammad
Shah, the Mughal Emperor of India.
(A) Nadir Shah (B) Babar

(C)y Akbar (D) Waris Shah

A Carnot engine operates with source at
127° C and sink at 27° C. 1f the source
supplies 40 k. of heat energy, the work
done by the engine 1s

(A) 30 kd (B) 10 kJ

(C) 4 kJ (D) 1kdJ

In Haryvana, HPPC means

(A) Haryana Power Purchase Centre

(B) Haryana Poverty Prasatan
Corporation

(C) Haryana Prasaran Purchase
Corporation

(D) None of these

Most projectors use technology

to create images.

(A) Liquid Crystal Display (LCD)
(B) Cathode Ray Tube (CRT)

(C) Plasma

(D) Paper-White

Which resistance welding process produces
a bulge at weld joint ?
(A) Flash butt (B) Spot

(C) Seam (D) Projection
x—1 b x—3
|5} (31 = [—) . then the value of x 1s
b a
(A) l; B) 1
% 7
(C) 2 @) 3

80.

81.

76.

77.

78.

79.
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Direction : Q. No. 83 and 84 :

In each of the following questions, a sentence
has been given in direct/indirect speech. Out
of the four alternatives suggested-select the
one which best expresses the same sentence in
indirect/direct speech.

83. “Why are you looking through the

keyhole 7 I said. =~ 2

(A) I asked him why he was looking
through the keyhole.

(B) 1 said to him why he is looking
through thé keyhole.

(& 1 said to him that why he was
looking through the keyhole.

(D) I asked you why you are looking
through the-keyhole.

84. “How cruel the boss is !” said the clerk.

(A) The clerk said that the boss was
very cruel.

7 The {:lerk said that the boss is very
cruel.

{C) The clerk exclaimed that the bogs
was very cruel.

(?) The clerk exclaimed that the boss is
very cruel.

Direction : Q. No. 85 and 86 :

The following questions consist of fragments
of a sentence. The first fragment (1) and the
last fragment (6) are in order. The other four
fragments are jumbled u%and are designated

as (P), (Q), (R) and (S). Find out the gorreet

sequence of these from the given alternatives.

85. 1. The salmon fish pushed themselves
P. to return to their spawning grounds
Q. and fertilised them )
R. but once they laid their eggs
S. to their limits

English Language

6. they died.
(A) SQPR (B) RSQP
(&Y SPRQ (D) RPSQ
86. 1. One of the most widely spread of bad
habits.
P. which is now smoked or chewed by
men

. and even by children
R. often by women
Q  is the use of tobacco
6. almost all over the world.

(A) SPRQ (B) PQRS

(C) SRQP @) PQSR
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